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10th Social Science Lesson 11 Questions in English - Civics

5] India's International Relations

1. Who quoted the statement as "we live in a
world of Interdependence"?

a) Jawaharlal Nehru
b) Rajendra Prasad
¢) Mount Batten

d) Gandhi

2. Assertion (A): Independent India has been
fostering world peace.

Reasoning (R): India abjured in military alliances
from Independence.

a) Both A and R is correct and R is the correct
explanation of A.

b) Both A and R is correct but R is not the
correct explanation of A.

¢) Ais True but R is False.
d) Both A and R is False.

3. What was India's objective in International
relations?

a) Peace

b) Good Business relations
¢) Money Policy

d) Exchange policy

4. Choose the correct statements regarding
India's foreign relations.

i) India is a highly populated country.

i) India's neighbors had been part of a
homogenous culture in the subcontinent for
many years.

a) i only

b) ii only

c) Bothaand b

d) None of the above

5. Which country does not belong to the North
boundary of the India?

a) China c) Bhutan
b) Nepal d) Pakistan

6. Which separates Maldives from India?
a) Indian Ocean

b) Bay of Bengal

c) Palk Strait

d) Rann of Kutch

7. Match

A. South East - i) Bangladesh

B. East - i) Afghanistan

C. North West - iii) Maldives

D. South West - iv) Sri Lanka

a) iv, iii, ii, i

b) i, iv, i, iii

c) iv, i, i, iii

d) i, i, iv, iii

8. Which of these country share most number of
neighbors in its borders?

a) Russia

b) India

¢) France

d) Germany

9. Assertion (A): Indo-Afghan relation was
strengthened by the SPA agreement.

Reasoning (R): The SPA provides assistance to
rebuild Afghan infrastructures.

a) Both A and R is correct and R is the correct
explanation of A.

b) Both A and R is correct but R is not the
correct explanation of A.

c) Ais True but R is False.
d) Both A and R is False.

10. Which Afghan dam was constructed with the
help of India?

a) Salma Dam
b) Darunta Dam

¢) Kajaki Dam
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d) Grishk Dam

11. Which of these King of ancient India sent
religious missionaries to Afghanistan?

a) Harsha
b) Kanishka
c) Asoka

d) Akbar

12. Name the Afghanistan leader participated in
Indian freedom struggle?

a) Jinnah

b) Ali brothers

¢) Abul Kalam Azad

d) Khan Abdul Ghaffar Khan

13. Choose the Incorrect statements regarding
the Indo-Afghan relations.

i) India announced scholarships for children of
Martyrs of Afghan Security Forces.

i) India supports the Public health sectors of
Afghanistan.

iii) All large Scale Industries of Afghanistan were
promoted by Indian investments.

a)ionly
b) ii only
c) iii only
d) All the above

14. In which sector Indian companies planned to
make a huge investment?

a) Agriculture

b) Mining sector

¢) Shipping Industry
d) Textile Industries

15. Name the Cricket stadium which proves the
Indian-Afghan collaboration?

a) Rawalpindi Cricket Stadium

b) Gadaffi Stadium

¢) Kandahar International Cricket Stadium
d) Arbab Niaz Stadium

16. In what way India supports Afghanistan for
its development?

a) Monetary Aids
b) Manpower

¢) Funds

d) both a and c

17. Which country was acknowledged as an
independent country by India?

a) Bangladesh
b) Pakistan

¢) Japan

d) Nepal

18. Bangladesh formerly belonged to which part
of these countries?

a) West Pakistan

b) East Nepal

¢) West Afghanistan
d) East Pakistan

19. State the correct distance shared by
Bangladesh and India border?

a) 6045.5 km
b) 4096.7 km
c) 5132.4 km
d) 7890.6 km

20. Which of these cities of India and
Bangladesh are proposed for a new Railway
connectivity?

a) Agartala-Akhaura
b) Kohima- Dhaka
c) Shillong- Sylhet
d) Imphal - Khulna

21. Under which agreement India shares a Road
transit facility with Bangladesh?

a) BBIN-MVA

b) SCO

c) SASEC

d) Chabahar Agreement

Line By Line Questions



10" Social Science

Winmeen Test Sheets

22. When the Farakka accord was signed
between India and Bangladesh?

a) 1976
b) 1987
c) 1977
d) 1956

23. Assertion (A): India shares Ganga water with
Bangladesh according to the Farakka Accord.

Reasoning (R): India and Bangladesh shares
about 15 common rivers.

a) Both A and R is correct and R is the correct
explanation of A.

b) Both A and R is correct but R is not the
correct explanation of A.

c) Ais True but R is False.
d) Both A and R is False.

24. Which of these are constructed by India
under Aid to Bangladesh?

a) Laboratories
b) Dispensaries
¢) Deep tube wells
d) All the above

25. Which organ of India grants scholarships to
the Bangladesh students every year?

a) ICCR
b) HECI
c) AICTE
d) MHRD

26. In which of this Universities India has
initiated a Tagore Chair for the benefit of the
Bangladesh students?

a) The University of Dhaka

b) The University of Delhi

¢) The Banaras Hindu University
d) The Bangladesh University

27. In which city of Bangladesh, India
inaugurated a pipeline construction from Siliguri?

a) Dhaka

b) Rajshahi
¢) Parbatipur
d) Khulna

28. When India leased the Teen Bigha to
Bangladesh?

a) 2010

b) 2011

c) 2012

d) 2014

29. State the other name of Bhutan?
a) Land of Mountains

b) Land of Rivers

¢) Land of Himalaya

d) Land of Thunderbolt

30. When and where did India appoint its
resident representative in Bhutan?

a) 1986, Pura
b) 1967, Jakar
c) 1968, Thimphu
d) 1956, Gelephu

31. Which of the access of Bhutan id dependent
on India?

a) Railway Line

b) Airline

C) Sea Access

d) None of the above

32. Assertion (A): The Bilateral trade relation
between India and Bhutan is known as Bharat to
Bhutan.

Reasoning (R): India is the principal contributor
to the economic development of Bhutan.

a) Both A and R is correct and R is the correct
explanation of A.

b) Both A and R is correct but R is not the
correct explanation of A.

c) Ais True but R is False.
d) Both A and R is False.
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33. Which of these was constructed with the
help of India for the benefit of Bhutan Students?

a) Primary Schools

b) Digital library

¢) Colleges

d) University

34. Choose the correct statements.

i) The Bhutanese students are provided
scholarship  for studying in  prestigious
Institutions.

i) Nehru-Wangchuk Scholarship is awarded to
the Indian students.

a)ionly

b) ii only
c)Bothaandb
d) neither a nor b

35. How many hydroelectric projects have been
constructed by India in Bhutan?

a) 2
b) 6
c)4
d)3

36. Assertion (A): The Hydro Electric power
sector is the main bilateral co-operation between
India and Bhutan.

Reasoning (R): The Government of India has
constructed Hydro power stations in Chukha,
Kurichchu and Tala.

a) Both A and R is correct and R is the correct
explanation of A.

b) Both A and R is correct but R is not the
correct explanation of A.

¢) Ais True but R is False.
d) Both A and R is False.

37. State the main sectors of Bhutan in which
India had played a major part in development?

a) Telecommunication
b) Hospitals
¢) Bridges

d) all the above

38. Which Indian saint played a major role in
spreading Buddhism in Bhutan?

a) Guru Padmasambhava
b) Guru Sariputra

¢) Guru Nandhikasyapa
d) Guru Upali

39. Which of this country share a common
geographic and civilizational depth with India?

a) Bangladesh
b) Pakistan

c) Afghanistan
d) China

40. In what ways India and China share similar
ideas and views in World forum?

a) World Trade Organization

b) International Climate change
c) Reforms of the World Bank
d) All the above

41. Which of this Chinese organization gave the
observer status to India?

a) Shanghai Cooperation
b) SAARC

¢) BRICS

d) The World Bank

42. In which of these ways India and China
developed their relations.

a) Both countries established more dialogue
mechanisms covering diverse sectors.

b) Bilateral trade has developed enormous
growth.

c) A Common educational exchange program
was signed between these two countries.

d) All the above

43. What is the boundary line between the
territories of India and China?

a) Radcliffe line
b) McMahon line
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¢) Durand Line
d) Palk Strait

44, In which year the McMahon line was
determined?

a) 1912
b) 1910
c) 1916
d) 1914

45. Which of these Countries representatives
were involved in the 1914 Conference?

a) British India
b) China

c) Tibet

d) All the above

46. Which country is located at the South of
Lakshadweep Island?

a) Sri Lanka
b) Malaysia
¢) Maldives
d) Oman

47. Which of these factors are being developed
between India and Maldives?

a) Trade

b) Industries
¢) Tourism

d) bothaand c

48. Assertion (A): India and Maldives share a
common Linguistic, Cultural and religious links.

Reasoning (R): Both Countries have agreed to
strengthen the cooperation to enhance Maritime
Security in the Indian Ocean region.

a) Both A and R is correct and R is the correct
explanation of A.

b) Both A and R is correct but R is not the
correct explanation of A.

c) Ais True but R is False.
d) Both A and R is False.

49. When did Burma change its name as
Myanmar?

a) 1987
b) 1989
c) 1990
d) 1986

50. Which of these Indian states does not share
their borders with Myanmar?

a) Arunachal Pradesh
b) Nagaland

¢) Mizoram

d) Assam

51. Myanmar is the India's gateway of
Asia.

a) North-East
b) South-West
¢) South-East
d) North-West

52. Which of these connects the Kolkata to
Sittwe in Myanmar?

a) Kaladan Multi Model Transit Transport
b) Pancheshwar project

c) Strategic Partnership Agreement

d) BBIN-MVA Agreement

53. Which source of energy of Myanmar is
shared for the needs of India?

a) Petroleum
b) Iron

¢) Solar Power
d) Minerals

54. Which of these Indian sectors have invested
in Myanmar's energy sector?

a) ESSAR

b) ONGC

¢) GAIL

d) All the above

55. Which country acts as a Natural buffer
between India and China?
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a) Tibet

b) Nepal

¢) Bhutan
d) Myanmar

56. Assertion (A): Nepal depends on India for
Economic support and Transit facilities.

Reasoning (R): Nepal is a small landlocked
country.

a) Both A and R is correct and R is the correct
explanation of A.

b) Both A and R is correct but R is not the
correct explanation of A.

c) Ais True but R is False.
d) Both A and R is False.

57. Which of these Indian States share its
borders with Nepal?

a) Sikkim

b) West Bengal
c) Bihar

d) All the above

58. Which of the Nepal city is connected by the
Mahendra Raj Marg link of India?

a) Kathmandu
b) Pasupathi
¢) Janakpur
d) Varanasi

59. What is the capacity of the Pancheshwar
project took by the Indian Government?

a) 1000MW

b) 5600MW

¢) 3600MW

d) 10500MW

60. Name the traditional centers in Nepal?
a) Pasupathi

b) Kathmandu

¢) Janakpur

d) Bothaand c

61. In which schedule of the Indian Constitution
the Nepalese language has been added?

a) Sixth schedule

b) Seventh schedule
¢) Eighth schedule
d) Fifth Schedule

62. On which of this river a joint Hydropower
project between Nepal and India has been built?

a) Shardha
b) Ganges
¢) Yamuna
d) Brahmaputra

63. How many twinning cities have been signed
between India and Nepal?

a) 2
b) 3
c)4
d) 5

64. When the territory of India was bifurcated to
form Pakistan?

a) 1946
b) 1947
c) 1945
d) 1948

65. Assertion (A): Pakistan has been
antagonistic in maintain the relations with India.

Reasoning (R): India has made extreme efforts
to improve and stabilize the relations with
Pakistan.

a) Both A and R is correct and R is the correct
explanation of A.

b) Both A and R is correct but R is not the
correct explanation of A.

c) Ais True but R is False.
d) Both A and R is False.

66. When the Ceasefire line was renamed as the
Line of Control?

a) 1972
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b) 1949

c) 1976

d) 1947

67. Match

A. Shimla Agreement - i) Sri Lanka
B. Radcdliffe Line - ii) Pakistan

C. Brandix - iii) 1947

D. Pakistan Partition - iv) 1972

a) ii, i, iv, iii

b) iii, iv, ii, i

d) iv, ii, i, iii

68. Choose the Incorrect statements regarding
the India-Pakistan relationship.

i) Kashmir is the bone of contention between
India and Pakistan.

i) Cross border terrorism is the major irritant
between these two countries.

iii) India never tried to bring a positive change in
the relationship with Pakistan.

a)ionly
b) ii only
c) iii only
d) All the above

69. Which of these agreements made efforts to
improve the relationship between India and
Pakistan?

a) Shimla Agreement

b) Lahore Declaration

¢) Panchaseela policies

d)Bothaandb

70. Which separates India and Sri Lanka?
a) Radcliffe Line

b) Indian Ocean

c) Bay of Bengal

d) Palk Strait

71. By which of these India and Sri Lanka
develop trade agreements?

a) SAARC

b) G-7

¢) BRICS

d) Common Wealth

72. Which of these Statements is true regarding
the India Sri Lanka relationship?

i) India and Sri Lanka has conventionally close
to each other.

ii) India is among the top investors in Sri Lanka.

i) India has Cultural, historical and religious ties
with Sri Lanka.

a) ionly
b) ii only
c) iii only
d) All the above

73. In which of these sectors India made its
Investments in Sri Lanka?

a) Petroleum Retail
b) Tourism

¢) Real estate

d) All the above

74. Which country is a partner in Nalanda
University Project in India?

a) Bhutan

b) Sri Lanka
c) Bangladesh
d) China

75. Which ancient King conquered the northern
part of Ceylon?

a) Ashoka

b) Harsha

¢) Vijayalaya Chozhan
d) Rajendra I

76. Which of these are categorized as the
developed countries?

a) USA
b) Japan
¢) Australia
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d) All the above

77. Which of these factors is an explanation of a
developed country?

a) Highly developed economy
b) Huge Military forces

c) Major exports

d) High GDP

78. Match

A. COMCASA - i) Australia

B. AUSINDEX - ii) Japan

C. MAHSR - iii) USA

a) iii, i, ii

b) i, iii, i

c) ii, i, iii

d) i, ii, iii

79. What is the significance of the COMCASA

agreement between India and United States of
America?

a) Military agreement

b) Trade Agreement

¢) Information Technology Agreement
d) Industrial Sectors

80. Which of these countries Launch pads are
used by ISRO?

a) German
b) France
¢) Russia
d) Britain

81. Which of these smart cities are developed by
India and France cooperation?

a) Chandigarh
b) Nagpur

¢) Pondicherry
d) All the above

82. Assertion (A): The Australian India Council
broadens the relationship between India and
Australia.

Reasoning (R): India and Australia have built
strategic trust over years slowly and steadily.

a) Both A and R is correct and R is the correct
explanation of A.

b) Both A and R is correct but R is not the
correct explanation of A.

c) Ais True but R is False.
d) Both A and R is False.

83. To which sector Japan's Shinkansen system
is related?

a) Naval System

b) Military System

¢) High speed Railway System
d) Solar power system

84. How many number of seats has been
offered by Japan to Indian Nationalist in the
University of Japan?

a) 50
b) 20
c) 25
d) 10

85. Which of these Institutes provide the Japan
manufacturing skills to Indian people?

a) JIM

b) Shinkansen System

c) MAHSR

d) COMCASA

86. Which of these Indian states has the JIM's?
a) Gujarat

b) Karnataka

¢) Rajasthan

d) All the above

87. In which State of India the Japanese
Endowed Courses were included in the
Engineering Colleges?

a) Tamil Nadu
b) Andhra Pradesh

¢) Rajasthan
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d) Gujarat

88. Which of these Countries are included in the
West Asia?

a) Japan

b) South Korea
c) Afghanistan
d) Turkey

89. Assertion (A): India and West Asian
countries enjoy pre-historical ties.

Reasoning (R): Trade relations were established
between the Indus Valley and Mesopotamia

Civilizations.

a) Both A and R is correct and R is the correct
explanation of A.

b) Both A and R is correct but R is not the
correct explanation of A.

c) Ais True but R is False.
d) Both A and R is False.

90. Which of the countries signed the Chabahar
Agreement to establish the transit using the
Chabahar port?

a) India, Afghanistan, Iran

b) Iran, Afghanistan, Pakistan
¢) Afghanistan, Japan, India
d) India, Iran, Saudi Arabia

91. Which of this ancient Indian place was
connected with ancient Sumeria?

a) Meluha
b) Multan
c) Lothal
d) Sindh

92. Assertion (A): India is a potential super
power and has a growing International Influence
around the World.

Reasoning (R): India is a newly industrialized
country.

a) Both A and R is correct and R is the correct
explanation of A.

b) Both A and R is correct but R is not the
correct explanation of A.

c) Ais True but R is False.
d) Both A and R is False.

93. Which of these Countries does not included
in BRICS Organizations?

a) Brazil

b) Russia

¢) China

d) Singapore

94. Find the Headquarters of the BRICS
organization?

a) New Delhi

b) Shanghai

¢) Hong Kong

d) Beijing

95. Assertion (A): The BRICS organization

opened a possibility of countries of the Global
North to Challenge the Global South.

Reasoning (R): India is an active member of
BRICS which helps to build a Global profile.

a) Both A and R is correct and R is the correct
explanation of A.

b) Both A and R is correct but R is not the
correct explanation of A.

c) Ais True but R is False.
d) Both A and R is False.

96. What were the reasons for forming the
BRICS?

i) To be an alternative to World Bank and IMF.

i) To challenge the supremacy of the Western
Countries.

iii) To Dominate the Economic power globally.
a) i only

b) ii only

C) iii only

d) All the above

97. State the Objectives of BRICS.
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a) To Challenge the Supremacy of USA.
b) To achieve Regional development.

¢) To Overcome the Economic Burdens of the
associated Nations.

d) To Fund the Development projects in the
associated countries.

98. Who coined the acronym BRICS?
a) Jim O'Neil

b) Alan Greenspan

¢) Friedrich Hayek

d) Ernst Fehr

99. Which provides a framework for protecting
against the Global liquidity pressures of the
BRICS countries?

a) IMF
b) UN

c) NDB
d) CRA

100. In which year BRICS summit a payment
system was initiated as an alternative for SWIFT
system?

a) 2011
b) 2015
¢) 2013
d) 2017

101. Which of this country does not belong to
OPEC's Founder members?

a) Kuwait

b) Iran

¢) Saudi Arabia
d) Austria

102. How many categories of memberships are
followed among the OPEC nations?

a)2
b) 3
c)4
d)5

103. When the OPEC Logo was finalized by an
international competition?

a) 1965
b) 1973
c) 1956
d) 1969
104. Which is not a mission of OPEC?

i) To coordinate oil policies in its member
countries.

i) An efficient and regular supply of oil to
consuming nations.

iii) To setup oil markets in new countries.
a) i only

b) ii only

C) iii only

d) all the above

105. Choose the correct statements regarding
OPEC.

i) OPID is an institution that helps poor countries
to start up new Oil markets.

ii) OPEC has an Information center open to the
oil producing countries and its members.

iii) OPID helps finance projects with low interest
loans.

iv) The information center of OPEC is used by
the researchers and students.

a) i, i, iv only

b) ii, iv only

C) ii, iii, iv only

d) iii, iv only

106. Assertion (A): India is one of the biggest
producers of crude oil.

Reasoning (R): OPEC has vested interest in
India's economic growth.

a) Both A and R is correct and R is the correct
explanation of A.

b) Both A and R is correct but R is not the
correct explanation of A.

¢) A is False but R is True.
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d) Both A and R is False.

107. Choose the correct statements regarding
India's position in OPEC

i) India has enough oil resources.

ii) India is a great partner for OPEC because of
its high oil produce.

ii) Devoid of necessary oil reserves in India
strongly focuses on agriculture and Industrial
production.

a)ionly
b) ii only
C) iii only
d) All the above

108. Which of these countries is not included in
IBSA?

a) India
b) Brazil
¢) Afghanistan
d) South Africa

109. What does C stands for in the BCIM
organization?

a) China
b) Chile
c) Cuba
d) Canada

110. Which of this organization was initiated to
create infrastructural facilities in the Ganga-
Mekong basin?

a) RCEP
b) MGC
¢) IBSA
d) BIMSTEC

111. State the countries included in the
BIMSTEC organization?

a) Bangladesh, India, Myanmar, Sri Lanka
b) Sri Lanka, China, India, Australia
¢) Bangladesh, India, Nepal, Indonesia

d) Malaysia, India, Singapore, Nepal

112. Choose the Incorrect statements regarding
the RCEP organization.

i) New Zealand is one of the members in the
RCEP organization.

ii) Technical cooperation and dispute
settlements are also objectives of RCEP.

iii) To achieve modern high quality in goods and
trade of service.

a) ionly

b) ii only

c) iii only

d) None of the above

113. What does RCEP stands for?

a) Regional
Partnership

Comprehensive Economic

b) Regional Cooperation in Economic Partnership
c) Reuse Carbon Ecofriendly Partners
d) Resolution for Cooperative Economic profile

114. Which of these organization aims for the
energy development among its members?

a) BBIN
b) SCO
c) EAS

d) GCC

115. Which of these countries does not belong
to GCC nations?

a) Bahrain
b) Kuwait
c) Nepal
d) Qatar

116. When the Shanghai Cooperation
Organization was formed?

a) 1991
b) 1996
c) 1990
d) 1993

117. Assertion (A): India and China are active
members of SCO.
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Reasoning (R): SCO aims to resolve border
issues and countering terrorisms.

a) Both A and R is correct and R is the correct
explanation of A.

b) Both A and R is correct but R is not the
correct explanation of A.

c) Ais False but R is True.
d) Both A and R is False.

118. Which of this organization promotes peace
and stability in Asia?

a) SCO

b) EAS

c) MGC

d) RCEP

119. Where did the 19th SCO summit held?
a) Bishkek

b) Tashkent

c) Astana

d) Ufa

120. Match the member countries with the
Organization.

A. MGC - i) Bahrain

B. EAS - ii) Bhutan

C. GCC - iii) Cambodia
D. BIMSTEC - iv) Japan
a) iii, i, ii, iv

b) iii, iv, i, ii

C) i, i, iv, iii

d) ii, iii, i, iv
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